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A fragment is an ihcomplete sentence: it lacks either a subject, a verb, or both. A sentence that
includes both a subject and a verb can have an independent or a dependent clause.

A dependent clause is incomplete if no other idea is added to complete it: An independent clause .
can stand alone; it does not need any additional comment.-

Most fragments need to add a conJunot1on or to delete a preposfdon to become a complete

sentence. A complete sentence has:

s A subject: the actor in the sentence:
e A verb: the action posed by the subject.
e A complete thought; it makes sense; it can stand alone.

| Examples of Fragmenz‘s

° Aﬁer the rain stops (What will happen?)
X2 Smce You. asked the question. (You recéive’ an answer?)
- e .Ifyou want to come with me. (What should I do‘?)
,‘ : °. F or the pZayer to score, (What does he, have to do?) :

; These sentences are mcomplete because of the conJunctlons/prep051t1ons they use at the'
A beginning: aﬁ‘er Strce, ift for. To eliminate fragments, writers should e1ther delete these
_ conjunctlons/preposmons or JOIIl the ﬁagments Wlth other clauses to 1nd1cate a lo glcal

Aﬁei rhe rain Srops John wzll rzde hzs bzke : : .

' 'e Since you asked the queszﬁwn an expert will come over: z‘o answer zz‘ for the whole class it
9. ]f youwant to’ come with me, you must be prepared zfo brmg your passpon‘ -

For the player 0 Scor: e he musz‘ recezve the pass ina Splzt ofa Second

How to ﬁnd and ﬁx fragments REE B B gt

i Remember the basms subJ ect Verb complete thought
2 If you have a conjunct1on, 1dent1fy Wthh part | goes with it; that is the dependent clause
3 Make sure. the dependent clause 1S attached 10 an 1ndependent clause ' 8L

e, Because his car was n the shop (Dependent clause)
e John zfook the bus (Independent clause)
- 1'_:_ “John took the bus because his car was.in the Shop
-A"Because hzs car was zn rhe Shop, John took L‘he bus



GRAlV[lV,[AR ST e . Run-On Sentences

A run-on sentence is one that oontainstdo many thoughts for the punctuation it uses. It either
lacks the necessary punctuation or simply must be separated into multiple sentences. These are
also called fused sentences. You are making a run-on when you put two oomplete sentences (a
subject and its verb and another subject and its verb) together in one sentence thhout separating

them properly.
Examples of Run-Ons:

e My favorite Mediterranean spread is hummus it is very garlicky.

o [love to read, it is my hobby. < .

o * 4 reason why people overeat is they become addicted to sugar this causes obesity.

1]

These sentences are run-ons beoause they are missing punctuatlon or use mappropnate
punctuatlon To solve this problem Wnters should separate the clauses usmg a combination of .
o punotuahon, dependent clause markers, and/or- oonjunctlons '

-9_ | My favorzz‘e Medzrerranean spr ead Is hummus because it is very garlzcky
o Ilove to read. It is my hobby.
o A reason why people overeat is. they become addzcted t0 sugary thzs causes obesity.
e Mamny children spend hours in front of screens, and watchmg movies makes L‘hem
anzz soczal =g S ' R
How to ﬂnd and ﬁx run-ons:
l 'Remember the basms SU.b_] eot verb oomplete thought _
2 Find the boundaries of each complete thought (mdependent olauses)
3, Seps arate each complete thought. - : ,
4, Con51der the relat1onsh_1p between each thought reoombnnng them as desned with
e appropnate COIL_]UI]C'EIOHS/pllDCtU&thH or by malcmg one of the mdependent olauses
' dependent : ‘ ' ' A

A

NOTE FLxmg a run—on sentence is-an opportunlty to clarlfy your meanmg to your readers’l )

Cell phones help connecz‘ people in emergenczes chzldren Should have z‘hem (Unclear)

i e:;, CeZZ phones help connecz‘ people In emergenczes chzldren Should have them

C'ell phones help connecz‘ peopZe in emergenczes 50 chzldren should have rhem C

-Many children spevzd hours in 1‘?’om‘ of screens watchmg movies makes them antz soczal o




